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A3 —2 BEVICEMRILLBESNLIEHEICETIEE (1/1) _ _ RAEEE TRUIBEE
SEROME | @MES 066B1001 | BT \ RAEE | PrfEH S FEGEIRAER
SUERIMO TiRIZBEET 51 SER MR
io LESOBBOBELNORES TEBORRBSLNDORES LESOBBOBELNORES TEBORRESLNORES
= = S AV 7 S HVE | = = S AV = S AV B2l =
1 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.00{0.00 ~ 7.55 96.58| #h st | 000 ~ 755 2.24 11.32 Zhn st 1.00] 5.00 ~ 10.00 96.58| #h st | 5.00 ~ 10.00| 2.24 11.32
5 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.00{0.00 ~ 7.56 96.80| ZhLis | 000 ~ 756| 2.22 11.21 Zhn st 1.00f 5.00 ~ 10.00 96.80] #h st | 5.00 ~ 10.00| 2.22 11.21
3 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.00{0.00 ~ 6.26 78.63| #h st 1000 ~ 6.26] 1.95 9.88 Zhn st 1.00] 500 ~ 7.97 78.63| #h st | 500 ~ 797 1.95 9.88
4 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Fh st 1.00/ 000 ~ 6.18 7761 #hiis [000 ~ 0.00| 157 7.95 ZFh st 1.00|] 500 ~ 7.87 7161 Fhbist | 500 ~ 7.87| 1.57 7.95
5 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEEZD -~ - - -
Zhn st 1.0010.00 ~ 6.08 76.24| =h stk | 000 ~ 6.08| 1.89 9.56 Zhn st 1.00] 500 ~ 7.30 76.24] #h s | 500 ~ 7.30| 1.89 9.56
6 100kN/mM%#B % % 1.00/0.00 ~ 1.00 114.98|3m%E#BZB| - ~ - - -| 100kN/mM#%#8 2% 1.00[ 10.70 ~ 13.98 114.98|3m%#BZ % -~ - - -
ZFh st 1.00/1.00 ~ 878 100.00| Zh k14t |0.00 ~ 878 2.10 10.61 Fh st 1.00] 5.00 ~ 10.70 100.00] Zh st | 500 ~ 13.98| 2.10 10.61
; 100kN/mM%#B % % 1.00{0.00 ~ 1.05 115.74|3m%E#BZB| - ~ - - -| 100kN/mM%#8 2% 1.00| 10.53 ~ 13.72 115.74|3m%#BZ 5 -~ - - -
Zhn st 1.00{1.05 ~ 8.83 100.00| #h1 st [0.00 ~ 8.83| 2.19 11.08 Zhn st 1.00f 5.00 ~ 10.53 100.00|] #h st | 5.00 ~ 13.72] 2.19 11.08
8 100kN/mM%#B % % 1.00/ 000 ~ 0.41 106.08|3m%E#BZB| - ~ - - -| 100kN/mM#%#8 %% 1.00 10.72 ~ 11.94 106.08|3m%i#BZ 5 -~ - - -
ZFh st 1.00/ 041 ~ 820 100.00| Zh kst [ 000 ~ 8.20[ 2.09 10.59 Fh st 1.00] 5.00 ~ 1072 100.00f Zhiust | 500 ~ 11.94] 2.09 10.59
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh st ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnist ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
st ~ Zh st ~ ZhLst ~ Zh st ~
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